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Run 5984 quartetwise, posHQ: Beam DH

Run 5984 quartetwise, negHO: Beam DIN
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Run 5984 quartetwise, asym0Osub: Beam ON
Laser ON Entries: 88291 Entries: 59120
— Mean: -31.8573 /- 0.0058 Mean: -0.0399 +- 0.0583
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-------- Histogram Vars

Positive Hel (ON): 14.022834 +/- 0.002672
Negative Hel (ON): 14.779465 +/- 0.002825
Positive Hel (OFF): 2.530417 +/- 0.001199
Negative Hel (OFF): 2.531363 +/- 0.001202
-------- Sums and Diffs

On Diff: -0.756632 +/- 0.001870

Off Diff: -0.000946 +/- 0.001407
On Sum: 28.802299 +/- 0.005172

Off Sum: 5.061781 +/- 0.001945
-------- Asymmetries
On Asym: -31.870901 +/- -0.079107 (ppt)
Off Asym: -0.039856 +/- -0.059277 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 23.740518 +/- 0.005526
BkSub Asym: -31.831045 +/- 0.098852 (ppt)
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Run 5984 quartetwise, posHO vs time
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Run 5984 quartetwise, asym0Qsub vs time
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Run 5984 quartetwise, negHO vs time
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Run 5984 quartetwise, bcm vs time
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